### **Bid Abstract**

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015 Page 1 of 16



ENGINE				ENGINEER'S ESTIMATE		C.P. CONSTRUCTION C	O., INC.	T.B.U., INC.	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$250,000.00	\$250,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
3	TRAFFIC CONTROL	L.S.	1	\$60,000.00	\$60,000.00	\$30,000.00	\$30,000.00	\$75,000.00	\$75,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$65,000.00	\$65,000.00
5	WORK EXCAVATION	C.Y.	34344	\$17.00	\$583,848.00	\$11.00	\$377,784.00	\$10.00	\$343,440.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	77510	\$1.00	\$77,510.00	\$1.00	\$77,510.00	\$5.00	\$387,550.00
7	BACKFILL PREPARATION	C.Y.	7000	\$3.00	\$21,000.00	\$1.00	\$7,000.00	\$5.00	\$35,000.00
8	BACKFILL	C.Y.	16430	\$15.00	\$246,450.00	\$8.00	\$131,440.00	\$12.00	\$197,160.00
9	CONTROLLED LOW STRENGTH	C.Y.	4650	\$95.00	\$441,750.00	\$90.00	\$418,500.00	\$85.00	\$395,250.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	710	\$40.00	\$28,400.00	\$40.00	\$28,400.00	\$18.00	\$12,780.00
11	TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$200,000.00	\$200,000.00	\$60,000.00	\$60,000.00	\$225,000.00	\$225,000.00
12	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	250	\$1,000.00	\$250,000.00	\$650.00	\$162,500.00	\$800.00	\$200,000.00
13	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	80	\$500.00	\$40,000.00	\$550.00	\$44,000.00	\$470.00	\$37,600.00
14	TRANSITION STRUCTURE NO. 3	EACH	1	\$6,000.00	\$6,000.00	\$6,500.00	\$6,500.00	\$7,100.00	\$7,100.00
15	MANHOLE NO. 1	EACH	2	\$6,000.00	\$12,000.00	\$4,950.00	\$9,900.00	\$6,000.00	\$12,000.00
16	MANHOLE NO. 2	EACH	17	\$6,000.00	\$102,000.00	\$5,450.00	\$92,650.00	\$9,000.00	\$153,000.00
17	12" RCP, CLASS IV	L.F.	30	\$200.00	\$6,000.00	\$100.00	\$3,000.00	\$85.00	\$2,550.00
18	18" RCP, CLASS IV	L.F.	532	\$80.00	\$42,560.00	\$65.00	\$34,580.00	\$100.00	\$53,200.00
19	24" RCP, CLASS IV	L.F.	459	\$145.00	\$66,555.00	\$75.00	\$34,425.00	\$125.00	\$57,375.00
20	72" RCP, 1500D	L.F.	5761	\$300.00	\$1,728,300.00	\$325.00	\$1,872,325.00	\$275.00	\$1,584,275.00
21	78" RCP, 1500D	L.F.	810	\$350.00	\$283,500.00	\$375.00	\$303,750.00	\$300.00	\$243,000.00
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$65.00	\$71,500.00	\$60.00	\$66,000.00	\$25.00	\$27,500.00
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$100.00	\$370,000.00	\$100.00	\$370,000.00	\$95.00	\$351,500.00
24	TEMPORARY RESURFACING	TONS	500	\$100.00	\$50,000.00	\$200.00	\$100,000.00	\$95.00	\$47,500.00
25	MISCELLANEOUS IRON AND STEEL	LBS.	24700	\$2.00	\$49,400.00	\$2.00	\$49,400.00	\$2.75	\$67,925.00
					l				

**Bid Abstract** 

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015

Page 2 of 16

			EN	IGINEER'S ESTIMATE		C.P. CONSTRUCTION CO	D., INC.	T.B.U., INC.	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$46,000.00	\$46,000.00	\$20,000.00	\$20,000.00	\$82,500.00	\$82,500.00
27	REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$150,000.00	\$150,000.00	\$110,000.00	\$110,000.00	\$100,000.00	\$100,000.00
28		EACH	29	\$1,500.00	\$43,500.00	\$1,250.00	\$36,250.00	\$1,500.00	\$43,500.00
29	FIRE HYDRANT INSTALLATION	L.S.	1	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00	\$10,000.00	\$10,000.00
30	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$200.00	\$9,000.00	\$200.00	\$9,000.00	\$50.00	\$2,250.00
31	EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
32	DUST ABATEMENT	L.S.	1	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
33	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$15,000.00	\$15,000.00
34	NON-STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00
					\$5,355,273.00		\$4,838,414.00		\$5,313,955.00



### Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015



Page 3 of 16

				LEATHERWOOD CONSTR	JCTION, INC.	WEKA, INC. YOUNG & ASSOCIATES			
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$81,000.00	\$81,000.00	\$73,798.00	\$73,798.00	\$25,000.00	\$25,000.00
2	WATER CONTROL	L.S.	1	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$150,000.00	\$150,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
5	WORK EXCAVATION	C.Y.	34344	\$15.00	\$515,160.00	\$10.00	\$343,440.00	\$8.50	\$291,924.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	77510	\$1.00	\$77,510.00	\$0.50	\$38,755.00	\$0.75	\$58,132.50
7	BACKFILL PREPARATION	C.Y.	7000	\$0.55	\$3,850.00	\$0.50	\$3,500.00	\$10.00	\$70,000.00
8	BACKFILL	C.Y.	16430	\$12.00	\$197,160.00	\$10.00	\$164,300.00	\$10.00	\$164,300.00
9	CONTROLLED LOW STRENGTH MATERIAL (CLSM) BACKFILL	C.Y.	4650	\$75.00	\$348,750.00	\$80.00	\$372,000.00	\$15.00	\$69,750.00
10	FILTER MATERIAL	C.Y.	710	\$47.00	\$33,370.00	\$42.00	\$29,820.00	\$20.00	\$14,200.00
11	TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$15,000.00	\$15,000.00	\$113,880.00	\$113,880.00	\$50,000.00	\$50,000.00
12	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	250	\$1,150.00	\$287,500.00	\$920.00	\$230,000.00	\$770.00	\$192,500.00
13	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	80	\$720.00	\$57,600.00	\$525.00	\$42,000.00	\$455.00	\$36,400.00
14	TRANSITION STRUCTURE NO. 3	EACH	1	\$6,550.00	\$6,550.00	\$9,993.00	\$9,993.00	\$5,300.00	\$5,300.00
15	MANHOLE NO. 1	EACH	2	\$5,400.00	\$10,800.00	\$5,000.00	\$10,000.00	\$4,100.00	\$8,200.00
16	MANHOLE NO. 2	EACH	17	\$7,750.00	\$131,750.00	\$10,600.00	\$180,200.00	\$7,000.00	\$119,000.00
17	12" RCP, CLASS IV	L.F.	30	\$200.00	\$6,000.00	\$170.00	\$5,100.00	\$100.00	\$3,000.00
18	18" RCP, CLASS IV	L.F.	532	\$80.00	\$42,560.00	\$173.00	\$92,036.00	\$100.00	\$53,200.00
19	24" RCP, CLASS IV	L.F.	459	\$90.00	\$41,310.00	\$182.00	\$83,538.00	\$125.00	\$57,375.00
20	72" RCP, 1500D	L.F.	5761	\$355.00	\$2,045,155.00	\$407.00	\$2,344,727.00	\$510.00	\$2,938,110.00
21	78" RCP, 1500D	L.F.	810	\$390.00	\$315,900.00	\$456.00	\$369,360.00	\$525.00	\$425,250.00
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$80.00	\$88,000.00	\$47.00	\$51,700.00	\$50.00	\$55,000.00
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$128.00	\$473,600.00	\$115.00	\$425,500.00	\$100.00	\$370,000.00
24	TEMPORARY RESURFACING	TONS	500	\$80.00	\$40,000.00	\$100.00	\$50,000.00	\$90.00	\$45,000.00
25	MISCELLANEOUS IRON AND STEEL	LBS.	24700	\$1.55	\$38,285.00	\$1.60	\$39,520.00	\$2.80	\$69,160.00
			J						

**Bid Abstract** 

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

NON-STORMWATER DISCHARGE OR L.S.

DEWATERING

**Bid Open Date:** 6/4/2015



				THERWOOD CONSTRU	CTION, INC.	WEKA, INC. YOUNG & ASSOCIATES			
I	tem No. & Description	Unit (	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
	26 6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$67,000.00	\$67,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00
	27 REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$38,500.00	\$38,500.00	\$42,000.00	\$42,000.00	\$45,000.00	\$45,000.00
	28 WATER SERVICE RECONNECTIONS I	EACH	29	\$1,550.00	\$44,950.00	\$1,400.00	\$40,600.00	\$2,100.00	\$60,900.00
	29 FIRE HYDRANT INSTALLATION	L.S.	1	\$12,800.00	\$12,800.00	\$8,500.00	\$8,500.00	\$7,500.00	\$7,500.00
	30 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$155.00	\$6,975.00	\$100.00	\$4,500.00	\$50.00	\$2,250.00
	31 EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
	32 DUST ABATEMENT	L.S.	1	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
	33 STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00

\$1,000.00

\$5,349,535.00

\$1,500.00

\$1,500.00

\$5,436,767.00

\$10,000.00

\$10,000.00

\$5,521,451.50

\$1,000.00

### **Bid Abstract**

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015 Page 5 of 16



			H	H & H GENERAL CONTRAC	CTORS, INC.	MAMCO, INC. dba ALABE	BASI	LONEROCK, INC.	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$370,000.00	\$370,000.00	\$251,683.74	\$251,683.74	\$200,000.00	\$200,000.00
2	WATER CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$0.01	\$0.01	\$5,000.00	\$5,000.00
3	TRAFFIC CONTROL	L.S.	1	\$53,000.00	\$53,000.00	\$78,000.00	\$78,000.00	\$15,000.00	\$15,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$178,000.00	\$178,000.00	\$50,000.00	\$50,000.00	\$5,000.00	\$5,000.00
5	WORK EXCAVATION	C.Y.	34344	\$15.00	\$515,160.00	\$6.00	\$206,064.00	\$3.00	\$103,032.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	77510	\$0.40	\$31,004.00	\$0.50	\$38,755.00	\$1.00	\$77,510.00
7	BACKFILL PREPARATION	C.Y.	7000	\$1.15	\$8,050.00	\$3.00	\$21,000.00	\$3.00	\$21,000.00
8	BACKFILL	C.Y.	16430	\$32.00	\$525,760.00	\$4.00	\$65,720.00	\$2.00	\$32,860.00
9	CONTROLLED LOW STRENGTH	C.Y.	4650	\$74.50	\$346,425.00	\$100.00	\$465,000.00	\$55.00	\$255,750.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	710	\$33.50	\$23,785.00	\$32.00	\$22,720.00	\$38.00	\$26,980.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$70,000.00	\$70,000.00	\$45,000.00	\$45,000.00	\$100,000.00	\$100,000.00
12	FALSEWORK CLASS "A" CONCRETE, MINOR	C.Y.	250	\$806.00	\$201,500.00	\$950.00	\$237,500.00	\$550.00	\$137,500.00
13	STRUCTURES CLASS "B" CONCRETE,	C.Y.	80	\$588.00	\$47,040.00	\$380.00	\$30,400.00	\$550.00	\$44,000.00
14	MISCELLANEOUS TRANSITION STRUCTURE NO. 3	EACH	1	\$5,376.00	\$5,376.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00
15	MANHOLE NO. 1	EACH	2	\$5,544.00	\$11,088.00	\$4,800.00	\$9,600.00	\$10,000.00	\$20,000.00
16	MANHOLE NO. 2	EACH	17	\$4,875.00	\$82,875.00	\$6,600.00	\$112,200.00	\$11,000.00	\$187,000.00
17	12" RCP, CLASS IV	L.F.	30	\$142.00	\$4,260.00	\$100.00	\$3,000.00	\$120.00	\$3,600.00
18	18" RCP, CLASS IV	L.F.	532	\$139.00	\$73,948.00	\$85.00	\$45,220.00	\$150.00	\$79,800.00
19	24" RCP, CLASS IV	L.F.	459	\$142.00	\$65,178.00	\$95.00	\$43,605.00	\$180.00	\$82,620.00
20	72" RCP, 1500D	L.F.	5761	\$304.00	\$1,751,344.00	\$450.00	\$2,592,450.00	\$545.00	\$3,139,745.00
21	78" RCP, 1500D	L.F.	810	\$373.00	\$302,130.00	\$650.00	\$526,500.00	\$595.00	\$481,950.00
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$91.50	\$100,650.00	\$40.00	\$44,000.00	\$30.00	\$33,000.00
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$100.00	\$370,000.00	\$115.00	\$425,500.00	\$95.00	\$351,500.00
24	TEMPORARY RESURFACING	TONS	500	\$89.50	\$44,750.00	\$1.00	\$500.00	\$80.00	\$40,000.00
25	MISCELLANEOUS IRON AND STEEL	LBS.	24700	\$1.50	\$37,050.00	\$1.30	\$32,110.00	\$1.50	\$37,050.00
			J			l	I		

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015 Page 6 of 16



				H & H GENERAL CONTRA	CTORS, INC.	MAMCO, INC. dba ALAB	BASI	LONEROCK, INC.	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$77,000.00	\$77,000.00	\$56,000.00	\$56,000.00	\$17,500.00	\$17,500.00
27	REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$50,400.00	\$50,400.00	\$27,000.00	\$27,000.00	\$1,500.00	\$1,500.00
28	WATER SERVICE RECONNECTIONS	EACH	29	\$2,624.00	\$76,096.00	\$1,800.00	\$52,200.00	\$2,000.00	\$58,000.00
29	FIRE HYDRANT INSTALLATION	L.S.	1	\$15,200.00	\$15,200.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00
30	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$280.00	\$12,600.00	\$90.00	\$4,050.00	\$100.00	\$4,500.00
31	EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
32	DUST ABATEMENT	L.S.	1	\$11,200.00	\$11,200.00	\$0.01	\$0.01	\$5,000.00	\$5,000.00
33	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$24,000.00	\$24,000.00	\$16,000.00	\$16,000.00	\$1,000.00	\$1,000.00
34	NON-STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$5,600.00	\$5,600.00	\$0.01	\$0.01	\$1,000.00	\$1,000.00
					\$5,655,469.00		\$5,667,777.77		\$5,736,397.00

#### **Bid Abstract**

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015 Page 7 of 16



	Bid Open Date: 6/4/2015						Page	7 of 16	SERVATION
			1	GRFCO, INC.		SULLY-MILLER CONTRA	ACTING COMPANY	VIDO ARTUKOVICH & S INC. A JV	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$200,000.00	\$200,000.00	\$143,900.00	\$143,900.00	\$175,000.00	\$175,000.00
2	WATER CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00
3	TRAFFIC CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$65,000.00	\$65,000.00	\$100,000.00	\$100,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
5	EXCAVATION	C.Y.	34344	\$8.00	\$274,752.00	\$8.50	\$291,924.00	\$25.00	\$858,600.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	77510	\$1.00	\$77,510.00	\$0.10	\$7,751.00	\$1.50	\$116,265.00
7	BACKFILL PREPARATION	C.Y.	7000	\$1.00	\$7,000.00	\$2.25	\$15,750.00	\$15.00	\$105,000.00
8	BACKFILL	C.Y.	16430	\$12.00	\$197,160.00	\$15.50	\$254,665.00	\$20.00	\$328,600.00
9	CONTROLLED LOW STRENGTH MATERIAL (CLSM) BACKFILL	C.Y.	4650	\$60.00	\$279,000.00	\$100.00	\$465,000.00	\$75.00	\$348,750.00
10	FILTER MATERIAL	C.Y.	710	\$45.00	\$31,950.00	\$55.00	\$39,050.00	\$30.00	\$21,300.00
11	TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$700,000.00	\$700,000.00	\$150,000.00	\$150,000.00	\$225,000.00	\$225,000.00
12	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	250	\$800.00	\$200,000.00	\$1,300.00	\$325,000.00	\$900.00	\$225,000.00
13	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	80	\$600.00	\$48,000.00	\$700.00	\$56,000.00	\$1,200.00	\$96,000.00
14	TRANSITION STRUCTURE NO. 3	EACH	1	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$12,500.00	\$12,500.00
15	MANHOLE NO. 1	EACH	2	\$10,000.00	\$20,000.00	\$7,500.00	\$15,000.00	\$8,000.00	\$16,000.00
16	MANHOLE NO. 2	EACH	17	\$10,000.00	\$170,000.00	\$9,000.00	\$153,000.00	\$10,000.00	\$170,000.00
17	12" RCP, CLASS IV	L.F.	30	\$140.00	\$4,200.00	\$93.00	\$2,790.00	\$150.00	\$4,500.00
18	18" RCP, CLASS IV	L.F.	532	\$140.00	\$74,480.00	\$130.00	\$69,160.00	\$175.00	\$93,100.00
19	24" RCP, CLASS IV	L.F.	459	\$150.00	\$68,850.00	\$170.00	\$78,030.00	\$200.00	\$91,800.00
20	72" RCP, 1500D	L.F.	5761	\$400.00	\$2,304,400.00	\$380.00	\$2,189,180.00	\$283.00	\$1,630,363.00
21	78" RCP, 1500D	L.F.	810	\$425.00	\$344,250.00	\$440.00	\$356,400.00	\$283.00	\$229,230.00
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$35.00	\$38,500.00	\$130.00	\$143,000.00	\$25.00	\$27,500.00
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$90.00	\$333,000.00	\$90.00	\$333,000.00	\$110.00	\$407,000.00
24	TEMPORARY RESURFACING	TONS	500	\$90.00	\$45,000.00	\$138.00	\$69,000.00	\$110.00	\$55,000.00
25	MISCELLANEOUS IRON AND STEEL	LBS.	24700	\$2.00	\$49,400.00	\$1.50	\$37,050.00	\$2.00	\$49,400.00
			ı					l	

**Bid Abstract** 

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015



Page 8 of 16

				GRFCO, INC.		SULLY-MILLER CONTR	ACTING COMPANY	VIDO ARTUKOVICH & SONS, INC. / VIDMAR, INC. A JV	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$45,000.00	\$45,000.00	\$39,000.00	\$39,000.00	\$25,000.00	\$25,000.00
27	REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$10,000.00	\$10,000.00	\$70,000.00	\$70,000.00	\$75,000.00	\$75,000.00
28		EACH	29	\$1,500.00	\$43,500.00	\$7,700.00	\$223,300.00	\$750.00	\$21,750.00
29	FIRE HYDRANT INSTALLATION	L.S.	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$6,500.00	\$6,500.00
30	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$125.00	\$5,625.00	\$165.00	\$7,425.00	\$800.00	\$36,000.00
31	EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
32	DUST ABATEMENT	L.S.	1	\$5,000.00	\$5,000.00	\$18,000.00	\$18,000.00	\$30,000.00	\$30,000.00
33	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$20,000.00	\$20,000.00
34	NON-STORMWATER POLLOTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$1,000.00	\$1,000.00	\$12,000.00	\$12,000.00	\$30,000.00	\$30,000.00
					\$5,780,577.00		\$5,837,875.00		\$5,860,158.00

### **Bid Abstract**

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015 Page 9 of 16



	•			PRO-CRAFT CONSTRUCT	ION, INC.	MIKE BUBALO CONSTR	UCTION CO., INC.	HEMET MFG. CO., INC. dba GENESIS	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	CONSTRUCTION Unit Bid	ON Total Bid
1	MOBILIZATION	L.S.	1	\$200,000.00	\$200,000.00	\$580,000.00	\$580,000.00	\$203,000.00	\$203,000.00
2	WATER CONTROL	L.S.	1	\$2,500.00	\$2,500.00	\$50,000.00	\$50,000.00	\$10,000.50	\$10,000.50
3	TRAFFIC CONTROL	L.S.	1	\$150,000.00	\$150,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$100,000.00	\$100,000.00
5	WORK EXCAVATION	C.Y.	34344	\$22.00	\$755,568.00	\$20.00	\$686,880.00	\$15.00	\$515,160.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	77510	\$0.90	\$69,759.00	\$12.00	\$930,120.00	\$0.25	\$19,377.50
7	BACKFILL PREPARATION	C.Y.	7000	\$0.10	\$700.00	\$20.00	\$140,000.00	\$0.50	\$3,500.00
8	BACKFILL	C.Y.	16430	\$10.00	\$164,300.00	\$18.00	\$295,740.00	\$10.00	\$164,300.00
9	CONTROLLED LOW STRENGTH	C.Y.	4650	\$70.00	\$325,500.00	\$60.00	\$279,000.00	\$75.00	\$348,750.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	710	\$50.00	\$35,500.00	\$30.00	\$21,300.00	\$10.00	\$7,100.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$350,000.00	\$350,000.00
12	FALSEWORK CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	250	\$750.00	\$187,500.00	\$1,200.00	\$300,000.00	\$1,200.00	\$300,000.00
13	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	80	\$1,100.00	\$88,000.00	\$700.00	\$56,000.00	\$600.00	\$48,000.00
14	TRANSITION STRUCTURE NO. 3	EACH	1	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
15	MANHOLE NO. 1	EACH	2	\$5,000.00	\$10,000.00	\$6,000.00	\$12,000.00	\$6,000.00	\$12,000.00
16	MANHOLE NO. 2	EACH	17	\$7,500.00	\$127,500.00	\$8,000.00	\$136,000.00	\$7,500.00	\$127,500.00
17	12" RCP, CLASS IV	L.F.	30	\$170.00	\$5,100.00	\$80.00	\$2,400.00	\$200.00	\$6,000.00
18	18" RCP, CLASS IV	L.F.	532	\$150.00	\$79,800.00	\$100.00	\$53,200.00	\$150.00	\$79,800.00
19	24" RCP, CLASS IV	L.F.	459	\$170.00	\$78,030.00	\$120.00	\$55,080.00	\$160.00	\$73,440.00
20	72" RCP, 1500D	L.F.	5761	\$370.00	\$2,131,570.00	\$250.00	\$1,440,250.00	\$352.00	\$2,027,872.00
21	78" RCP, 1500D	L.F.	810	\$400.00	\$324,000.00	\$200.00	\$162,000.00	\$402.00	\$325,620.00
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$45.00	\$49,500.00	\$30.00	\$33,000.00	\$125.00	\$137,500.00
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$115.00	\$425,500.00	\$30.00	\$111,000.00	\$125.00	\$462,500.00
24	TEMPORARY RESURFACING	TONS	500	\$100.00	\$50,000.00	\$100.00	\$50,000.00	\$50.00	\$25,000.00
25	MISCELLANEOUS IRON AND STEEL	LBS.	24700	\$1.50	\$37,050.00	\$2.00	\$49,400.00	\$2.00	\$49,400.00
						I	'		

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015

Page 10 of 16



			P	PRO-CRAFT CONSTRUCTI	ON, INC.	MIKE BUBALO CONSTR	UCTION CO., INC.	HEMET MFG. CO., INC. dba GENESIS CONSTRUCTION	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$55,000.00	\$55,000.00	\$4,000.00	\$4,000.00	\$150,000.00	\$150,000.00
27	REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$60,000.00	\$60,000.00	\$8,000.00	\$8,000.00	\$50,000.00	\$50,000.00
28	WATER SERVICE RECONNECTIONS	EACH	29	\$1,900.00	\$55,100.00	\$2,500.00	\$72,500.00	\$2,000.00	\$58,000.00
29	FIRE HYDRANT INSTALLATION	L.S.	1	\$6,800.00	\$6,800.00	\$7,000.00	\$7,000.00	\$11,000.00	\$11,000.00
30	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$1,700.00	\$76,500.00	\$400.00	\$18,000.00	\$100.00	\$4,500.00
31	EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
32	DUST ABATEMENT	L.S.	1	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$25,000.00	\$25,000.00
33	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$18,000.00	\$18,000.00	\$8,000.00	\$8,000.00	\$25,000.00	\$25,000.00
34	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
					\$5,886,277.00		\$5,898,870.00		\$5,926,320.00

### Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015



Page 11 of 16

MURRAY COMPANY					BORDEN EXCAVATING, INC.			TRAUTWEIN CONSTRUCTION		
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$113,338.00	\$113,338.00	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00	
2	WATER CONTROL	L.S.	1	\$3,034.00	\$3,034.00	\$5,000.00	\$5,000.00	\$18,000.00	\$18,000.00	
3	TRAFFIC CONTROL	L.S.	1	\$144,845.00	\$144,845.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$22,368.00	\$22,368.00	\$14,000.00	\$14,000.00	\$40,000.00	\$40,000.00	
5	WORK EXCAVATION	C.Y.	34344	\$22.00	\$755,568.00	\$1.00	\$34,344.00	\$12.00	\$412,128.00	
6	ASPHALT CONCRETE EXCAVATION	S.F.	77510	\$0.73	\$56,582.30	\$1.00	\$77,510.00	\$2.00	\$155,020.00	
7	BACKFILL PREPARATION	C.Y.	7000	\$9.00	\$63,000.00	\$0.10	\$700.00	\$8.00	\$56,000.00	
8	BACKFILL	C.Y.	16430	\$12.00	\$197,160.00	\$1.00	\$16,430.00	\$14.00	\$230,020.00	
9	CONTROLLED LOW STRENGTH	C.Y.	4650	\$69.00	\$320,850.00	\$100.00	\$465,000.00	\$100.00	\$465,000.00	
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	710	\$38.00	\$26,980.00	\$25.00	\$17,750.00	\$35.00	\$24,850.00	
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$54,055.00	\$54,055.00	\$2,000.00	\$2,000.00	\$300,000.00	\$300,000.00	
12	FALSEWORK CLASS "A" CONCRETE, MINOR	C.Y.	250	\$839.00	\$209,750.00	\$800.00	\$200,000.00	\$700.00	\$175,000.00	
13	STRUCTURES CLASS "B" CONCRETE,	C.Y.	80	\$1,207.00	\$96,560.00	\$1,150.00	\$92,000.00	\$450.00	\$36,000.00	
14	MISCELLANEOUS TRANSITION STRUCTURE NO. 3	EACH	1	\$6,771.00	\$6,771.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	
15	MANHOLE NO. 1	EACH	2	\$4,144.00	\$8,288.00	\$7,000.00	\$14,000.00	\$5,000.00	\$10,000.00	
16	MANHOLE NO. 2	EACH	17	\$7,063.00	\$120,071.00	\$9,800.00	\$166,600.00	\$9,000.00	\$153,000.00	
17	12" RCP, CLASS IV	L.F.	30	\$112.00	\$3,360.00	\$170.00	\$5,100.00	\$300.00	\$9,000.00	
18	18" RCP, CLASS IV	L.F.	532	\$73.00	\$38,836.00	\$150.00	\$79,800.00	\$375.00	\$199,500.00	
19	24" RCP, CLASS IV	L.F.	459	\$86.00	\$39,474.00	\$160.00	\$73,440.00	\$400.00	\$183,600.00	
20	72" RCP, 1500D	L.F.	5761	\$379.00	\$2,183,419.00	\$628.00	\$3,617,908.00	\$470.00	\$2,707,670.00	
21	78" RCP, 1500D	L.F.	810	\$398.00	\$322,380.00	\$680.00	\$550,800.00	\$525.00	\$425,250.00	
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$36.00	\$39,600.00	\$50.00	\$55,000.00	\$40.00	\$44,000.00	
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$152.00	\$562,400.00	\$90.00	\$333,000.00	\$70.00	\$259,000.00	
24	TEMPORARY RESURFACING	TONS	500	\$110.00	\$55,000.00	\$90.00	\$45,000.00	\$85.00	\$42,500.00	
25	MISCELLANEOUS IRON AND STEEL	LBS.	24700	\$1.30	\$32,110.00	\$1.50	\$37,050.00	\$4.00	\$98,800.00	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015



Page 12 of 16

			N	MURRAY COMPANY		BORDEN EXCAVATING	, INC.	TRAUTWEIN CONSTRUCTION	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$152,034.00	\$152,034.00	\$60,000.00	\$60,000.00	\$38,000.00	\$38,000.00
27	REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$60,347.00	\$60,347.00	\$9,840.00	\$9,840.00	\$30,000.00	\$30,000.00
28		EACH	29	\$1,238.00	\$35,902.00	\$2,000.00	\$58,000.00	\$2,500.00	\$72,500.00
29	FIRE HYDRANT INSTALLATION	L.S.	1	\$5,028.00	\$5,028.00	\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00
30	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$231.00	\$10,395.00	\$100.00	\$4,500.00	\$300.00	\$13,500.00
31	EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
32	DUST ABATEMENT	L.S.	1	\$27,434.00	\$27,434.00	\$2,000.00	\$2,000.00	\$20,000.00	\$20,000.00
33	STORMWATER AND NON-	L.S.	1	\$32,383.00	\$32,383.00	\$2,000.00	\$2,000.00	\$20,000.00	\$20,000.00
34	STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$1,676.00	\$1,676.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
					\$5,950,998.30		\$6,537,772.00		\$6,737,338.00

### **Bid Abstract**

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015 Page 13 of 16



	5/ 1/2010						J		
				SUKUT CONSTRUCTION, I	NC.	UTAH PACIFIC CONSTR	EUCTION CO.	GWINCO CONSTRUCTION & ENGINEERING, INC.	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$460,000.00	\$460,000.00	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00
2	WATER CONTROL	L.S.	1	\$25,000.00	\$25,000.00	\$14,000.00	\$14,000.00	\$1,500.00	\$1,500.00
3	TRAFFIC CONTROL	L.S.	1	\$85,000.00	\$85,000.00	\$47,000.00	\$47,000.00	\$25,000.00	\$25,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$170,000.00	\$170,000.00	\$27,000.00	\$27,000.00	\$20,000.00	\$20,000.00
5	EXCAVATION	C.Y.	34344	\$6.00	\$206,064.00	\$55.00	\$1,888,920.00	\$2.00	\$68,688.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	77510	\$0.75	\$58,132.50	\$0.20	\$15,502.00	\$0.50	\$38,755.00
7	BACKFILL PREPARATION	C.Y.	7000	\$0.70	\$4,900.00	\$1.00	\$7,000.00	\$10.00	\$70,000.00
8	BACKFILL	C.Y.	16430	\$10.00	\$164,300.00	\$91.00	\$1,495,130.00	\$10.00	\$164,300.00
9	CONTROLLED LOW STRENGTH	C.Y.	4650	\$160.00	\$744,000.00	\$68.00	\$316,200.00	\$75.00	\$348,750.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	710	\$44.00	\$31,240.00	\$56.00	\$39,760.00	\$44.00	\$31,240.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$240,000.00	\$240,000.00	\$200,000.00	\$200,000.00	\$188,000.00	\$188,000.00
12	FALSEWORK CLASS "A" CONCRETE, MINOR	C.Y.	250	\$1,280.00	\$320,000.00	\$1,150.00	\$287,500.00	\$1,305.00	\$326,250.00
13	STRUCTURES CLASS "B" CONCRETE,	C.Y.	80	\$800.00	\$64,000.00	\$920.00	\$73,600.00	\$1,195.00	\$95,600.00
14	MISCELLANEOUS TRANSITION STRUCTURE NO. 3	EACH	1	\$7,000.00	\$7,000.00	\$5,800.00	\$5,800.00	\$26,500.00	\$26,500.00
15	MANHOLE NO. 1	EACH	2	\$5,200.00	\$10,400.00	\$4,900.00	\$9,800.00	\$4,875.00	\$9,750.00
16	MANHOLE NO. 2	EACH	17	\$7,400.00	\$125,800.00	\$8,200.00	\$139,400.00	\$5,450.00	\$92,650.00
17	12" RCP, CLASS IV	L.F.	30	\$235.00	\$7,050.00	\$88.00	\$2,640.00	\$217.00	\$6,510.00
18	18" RCP, CLASS IV	L.F.	532	\$125.00	\$66,500.00	\$88.00	\$46,816.00	\$215.00	\$114,380.00
19	24" RCP, CLASS IV	L.F.	459	\$130.00	\$59,670.00	\$106.00	\$48,654.00	\$217.00	\$99,603.00
20	72" RCP, 1500D	L.F.	5761	\$455.00	\$2,621,255.00	\$278.00	\$1,601,558.00	\$800.00	\$4,608,800.00
21	78" RCP, 1500D	L.F.	810	\$465.00	\$376,650.00	\$328.00	\$265,680.00	\$675.00	\$546,750.00
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$170.00	\$187,000.00	\$94.00	\$103,400.00	\$59.00	\$64,900.00
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$140.00	\$518,000.00	\$110.00	\$407,000.00	\$108.00	\$399,600.00
24	TEMPORARY RESURFACING	TONS	500	\$325.00	\$162,500.00	\$100.00	\$50,000.00	\$92.00	\$46,000.00
25	MISCELLANEOUS IRON AND STEEL	LBS.	24700	\$1.70	\$41,990.00	\$1.00	\$24,700.00	\$1.30	\$32,110.00
					,			•	

**Bid Abstract** 

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015



Page 14 of 16

			\$	SUKUT CONSTRUCTION, I	NC.	UTAH PACIFIC CONSTR	UCTION CO.	GWINCO CONSTRUCTION & ENGINEERING, INC.	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$33,000.00	\$33,000.00	\$75,000.00	\$75,000.00	\$125,000.00	\$125,000.00
27	REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$65,000.00	\$65,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
28	WATER SERVICE RECONNECTIONS	EACH	29	\$3,500.00	\$101,500.00	\$900.00	\$26,100.00	\$1,400.00	\$40,600.00
29	FIRE HYDRANT INSTALLATION	L.S.	1	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$8,625.00	\$8,625.00
30	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$115.00	\$5,175.00	\$25.00	\$1,125.00	\$400.00	\$18,000.00
31	EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
32	DUST ABATEMENT	L.S.	1	\$26,000.00	\$26,000.00	\$20,000.00	\$20,000.00	\$38,000.00	\$38,000.00
33	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$77,000.00	\$77,000.00	\$20,000.00	\$20,000.00	\$23,000.00	\$23,000.00
34	NON-STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$2,000.00	\$2,000.00	\$11,000.00	\$11,000.00	\$1.00	\$1.00
					\$7,225,126.50		\$7,638,285.00		\$7,898,862.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04



	Troject Number. 4-0-02	212-04							CONSERVATION OF
	Bid Open Date: 6/4/20	015					Page 1	I5 of 16	WSERVATION
				NORSTAR PLUMBII ENGINEERING, INC.	NG AND				
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$250,000.00	\$250,000.00				
2	WATER CONTROL	L.S.	1	\$30,000.00	\$30,000.00				
3	TRAFFIC CONTROL	L.S.	1	\$180,000.00	\$180,000.00				
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$65,000.00	\$65,000.00				
5	EXCAVATION	C.Y.	34344	\$31.00	\$1,064,664.00				
6	ASPHALT CONCRETE EXCAVATIO	N S.F.	77510	\$3.50	\$271,285.00				
7	BACKFILL PREPARATION	C.Y.	7000	\$41.00	\$287,000.00				
8	BACKFILL	C.Y.	16430	\$57.00	\$936,510.00				
9	CONTROLLED LOW STRENGTH MATERIAL (CLSM) BACKFILL	C.Y.	4650	\$120.00	\$558,000.00				
10	FILTER MATERIAL	C.Y.	710	\$76.00	\$53,960.00				
11	TRENCH SAFETY SYSTEM AND FALSEWORK	L.S.	1	\$280,000.00	\$280,000.00				
12	CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	250	\$1,425.00	\$356,250.00				
13	CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	80	\$1,750.00	\$140,000.00				
14	TRANSITION STRUCTURE NO. 3	EACH	1	\$15,000.00	\$15,000.00				
15	MANHOLE NO. 1	EACH	2	\$12,000.00	\$24,000.00				
16	MANHOLE NO. 2	EACH	17	\$13,000.00	\$221,000.00				
17	12" RCP, CLASS IV	L.F.	30	\$500.00	\$15,000.00				
18	18" RCP, CLASS IV	L.F.	532	\$200.00	\$106,400.00				
19	24" RCP, CLASS IV	L.F.	459	\$218.00	\$100,062.00				
20	72" RCP, 1500D	L.F.	5761	\$355.00	\$2,045,155.00				
21	78" RCP, 1500D	L.F.	810	\$405.00	\$328,050.00				
22	AGGREGATE BASE, CLASS 2	C.Y.	1100	\$130.00	\$143,000.00				
23	HOT MIX ASPHALT (HMA), TYPE A	TONS	3700	\$150.00	\$555,000.00				
24	TEMPORARY RESURFACING	TONS	500	\$125.00	\$62,500.00				
25	MISCELLANEOUS IRON AND STEE	L LBS.	24700	\$1.40	\$34,580.00				
			ı		ı		'		

**Bid Abstract** 

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: HEMET MDP LINE C, STAGE 4

**Project Number:** 4-0-0212-04

**Bid Open Date:** 6/4/2015

Page 16 of 16



NORSTAR PLUMBING AND ENGINEERING, INC.									
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	6-INCH AND 4-INCH PVC WATERLINES	L.S.	1	\$65,000.00	\$65,000.00				
27	REMOVE AND DISPOSE OF INTERFERING PORTIONS OF ABANDONED TRANSITE (ACP) WATERLINES AND APPURTENANCES	L.S.	1	\$35,000.00	\$35,000.00				
28		EACH	29	\$2,000.00	\$58,000.00				
29	FIRE HYDRANT INSTALLATION	L.S.	1	\$18,000.00	\$18,000.00				
30	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	45	\$3,500.00	\$157,500.00				
31	EXTRA DIRECTED WORK	L.S.	1	\$150,000.00	\$150,000.00				
32	DUST ABATEMENT	L.S.	1	\$50,000.00	\$50,000.00				
33	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$40,000.00	\$40,000.00				
34	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$25,000.00	\$25,000.00				
					\$8,720,916.00				